
 
 
 
 
 
 
 
 
 
 
 

 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Unit does not play or does not 
play smoothly, etc. 

Check the laser driving current 

Replace the optical pickup. 
(Refer to page 10 in this manual.) 

Method: 
Check the voltage across the 
resistor R113 (TP41, TP43) in the 
laser power control circuit. 
Optical pickup is defective if the 
voltage is not below 1.0V (below 
50mA). 

After replacement check laser 
driving current. 
Value is less than 50mA (1V). 

Optical pickup tilt adjustment. 
(Refer to page 10 in this manual.)

Inspection 
(Check the operation) 

Troubleshooting (Optical Pickup) 


